OHRLLBOIFEEE—R

X1 BEFHRUEMEREL. TR25F3AREHE
X2 BHESEERBEHRUVEESEERERIL, FR5FIARRHE
XIEELOFERAMREE= (ZEXEH- (BHHEEEXER X 10%)) X (BEHERXEEFE (5m X 2.3m))
(EELOBEMBETHY. EEEBRULDFERNARIRRGIE SO, 0OCHERNAIRGHEEAHYET)

X4 RERLHOEBIETZDFHREVEEMER R VEESFERIT, FH26F2ADEHRELLITER
(F=fZL. BB IEPFICIYRMEERDIEENHDH)
X5 KBRMRIZFTDIHEEEX. KRTADBEZFELTLDHRRIFELTINSD,

, EERY |p o, - L ‘ i e
No [ ith 4 5 T X BTTH FRi g (%1) %%I_%Eiﬁ W;é@?ﬁ éﬁm% =HFYER BRETORE (ha) (4. 35)
' ~ o) (%3) K1)

1 |ERNE Erhth FERRETST —EE 60 29 2 0.0 EERER ESH155 0.6

2 |EAd Erhth FERSEHRTL —&E 100 55 11 63.3| EMER 585> 0.9

3 |HTEL Echv HFTELET23 |—hE 1312 715 224 1,7538| FEHRER #5214 971

4 |HTFER L HFREERAS |—F 510 213 a 00| FEPRER #5125 7.22 BEIEG
5 |BHRHFER |Ehm FTEXRES |—HE. -5 280 00| FEHRER #5214 6.46 BBISG
6 |HTEmR L HTERETL2 |—hF 1025 712 258 2,1482|HhILBER  $E5205 8.36

7 |#&IR L RS —hE. ZhE 550 186 1 0.0| FETER #$H155 2.9

8 |EMA Erhth =873 HETE 130 68 17 117.3|EEMER fESH155 1.03

9 |AEKRE Zdih FEiREL —5hE 140 104 00| FEPRER #H35—/ 2105 0.98

10 |B2H2E Echv EERTEL T 98 47 38.0|FEPIER #5135 095

11 |BhET L BiTHTL —EE 393 193 47 318.6| FEMER L1559 1.99

12 |ZhEH L & HHET4 —thE 352 214 20 0.0|#t3ER 5145 3.28

13 |BhtEE L tzel #THE 130 72 7 0.0| FERER fB25—/NR65 115

14 |8 EHH L L#Hm@4 —thE 200 118 14 253|HKILEER S 125 107

15 |ithFH %4 H st AL —thE 60 24 3 6.9| it FAER 5145 0.28

16 |MEAREE thET REA? —hE 199 94 1 0.0[ith BER HBHTH—/NR155 162

17 |[MHEEEE th T W3 —EE 70 30 22 218.5|ith FER S 0.32

18 |Em HE™ L —E% 272 166 58 476.1|E@EER LS00 2.08

19 |Emkk HE@EH Bl —E% 54 31 3 0.0| 4 3%ER 555 072

20 |FEREET WA B2 & R 720 190 87 782.0| BBER 51453 208

21 |WRHEILETE W N)::Ficp) —tE 384 297 46 1875|HKILEER 559/ 6% 2.95

22 |WRHILETEEE2 kAT LB 7E2 —HE 160 133 13 0.0[ILEER HEH55H >/ R55 159
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No [Hih 4 5 T X BTTH FRi g (%1) %%E?ﬁ wg&@y ﬁ% =HFYER BRETORE (ha) (4. X5)
' ~ o) (%3) (%1)

23 |WRHEFER W L4 —HE 124 88 17 94.3| B iDER 5145 145

24 |WRENE b4l JIIEET —tE 888 621 224 1,861.9|8JIIER BT 6.86

5 | FEEME W #EME25 —5hE 626 426 105 7176|FFRER #5105 . BEIESD
26 |WREEME W #EME25 —5hE 505 354 38 209|FEFEER  fEH10% BEIESD
21 | FEEHE b4l BHE124 = 2005 1382 568 49427|EFRER  #EH105H 23.65

28 |TEEAS R T ®EA13 = 834 396 118 9016/t FERER EH65H 033 BEIEG
29 |RHEBEBE W HEA13 —hE 292 210 86 7475t FEER  HEH6H BEBISG
0 |FEHIA e E T wiIE45 —hE 1402 824 370 33074\t FEER |fESH4H 14.14 BBIESD
31 |REHIE R T PRV —hE 249 — — —|FER |[fES4n 7.18 BEIESD
32 |FEFWE R T Hls2 = 485 262 64 4347\ FEBER  H#EHLUS 3.69

3 |[FEMRE V¢ TREA —f5 220 234 99 869.4|BKILBER [ 1ESH5H 278 BEIEG
34 |REMRE V¢ TREA —f5 200 - - —|[#kIL&BER &S5 H BEIEG
3B | FEHILE W HL&1,2 —5hE 1040 585 184 14433|HKILEER  #ESHSH 6.8

36 | ZRAERLL FARTH i1 hE 805 502 85 400.2| K AER 25— S R155 8.26

37 | RALHE RATH ZH2 & 770 538 141 1,002.8| R AER 35—/ \R15% 5.62

38 | XKy AE KA 4 AET —iEE 209 134 41 317.4| K AER 45 1.08

39 |ZRAKREK FATH FKHET —hE. —EE 144 85 18 109.3| ZAER 5125 16

40 | ZXARER KA REHEL2 —hE 394 220 50 3220|FERAER #5105 296

41 | RAREH ZATH E#i1,2 HhE. —EE 535 365 109 8338|MHAER S9N 3.95

82 | ZR=ZBER KA =BE12 hE 354 213 44 2611|#EFHER S US 311

43 |RATERHF FARTH FEiEH2 —tE 387 262 34 80.7| X ATHER  ##$75—/3215% 3.28

44 |EEEBIAE Eh 7 3 AT T —ER 639 285 75 5348|HEHER  ®EH6H 232

45 |fERRE Em —2R1 —nE 60 27 0 0.0|EE4ER 75— 1SR 155 053

46 |EIRIE# Em IE#AHETL —HE 288 145 16 17.3| E#ER "L 267

47 |EEBHTE EE B2 —hE 97 59 4 0.0| E#ER 53N —/\R8% 077

48 |EWNTE B J\THBRET3 —EE 57 20 12 1150|EHWmER #5995 04

49 |EHZE B ZHEHT2 —0E 1284 802 114 388.7| & HIER 25— \28% 122

50 |&SH#THEER S ZHT —0E 1406 930 93 00| HER 5259 — 18105 10.25

51 | SR B FEA AT HE 1160 759 94 2082\ ZHATMER  tES25—/SR15% 7.35

52 |EHIKE B sk E=HETL hE 80 29 0 0.0| = HER HEH5H—/ 255 051




. SELD St
. EERY |p o, - L ‘ mi e
No | Eih&H | WE X BTTH migl | Roe) |SEEEM| OB i BHEUR RETOLH| () (x4 X5)
' ~ o) (%3) K1)

53 | S KER =tk IR R BRET —fEE. — . HER 58 33 426|ERERR #5129 068

54 |SHIAE B F4EET ETH 180 118 00| L44ER #5135 201

55 |EHIREBAR B REAKETFREA | 312 155 19 403|BWTER #5109 274

56 | =i RHET = FHETL —{EE 99 69 10 35.7|EMER HEH155 087

57 |SHIEER B ERET —E% 309 156 49 3B41BHTER  #S135 3.02

58 |&H#RII B XJIET — g% 664 415 70 R78[BRTER S5 713

50 |EMERZIT B E2 T3 —E% 204 133 22 100.1|{E2EMER E45215 263

60 |EHEIRIR B RIRET2 = 794 482 102 618.7|BHMTHER  EH2n—/ %65 366

61 |SAIIII B RET TN —thE 564 337 47 1530\ KEHER  E5125 6.46

62 |IBitEE2 E PN B3T3 = 580 130 86 839.5|MBitFAER $EH64 508 BESIEH
63 |KBRSIEM |[HEKRRH chiIE T3 —thE 641 273 83 640.6|JBithFTHAER $E4H105 BEIEG
64 |EISH PN T HBithETL #TH 174 91 28 217.4|3Bit AR $EH205 0.98

65 |FIEME2 E PN B tET2 T 250 105 15 51.8|{ #ER 25— \R4% 135

66 | BKRRANHA RABRT hnsk3 —EE 390 333 99 755.6| & AER #5159 3.28

67 |ERAMRFEH RABRT TRAE$TATL2 —hE 446 257 91 751.0|fEREER EH65 4.73

68 B KBRS EON T JEth AT = 389 217 32 1185|BithETAER $£510% 4.18

69 |RKIREH PN T BZMW1 —fE 426 166 3 0.0| HMAER #$H105 2.18

70 |RXREE PN T AL —iE 1208 689 245 2,025.2|FAER L3 4.18

71 |BRAREZA |RKEH BZM2 = 669 379 89 587.7| HAER L3 4.85

72 |BRRRES EPNT) F AT —hE 268 163 71 629.1|TEEER L1005 2.15

73 |BRKMR#FT L /MR | BTABRTH # EINR —5hE 449 208 51 347.3| R#ER #$H155 4.09

74 |$FFIt wAm 5 AL BT = 1300 617 197 1,556.0| U EFER #5104 8.83 BEISESG
75 | FIEF WAT T EFmIET —HE 1100 578 108 577.3| ER:2ER EH65 7.45

76 |#FHE/O 90l %43 = 950 554 163 12374|8ATER 575/ 8% 11.8 BEIESD
7 |[MABR WA {B1ZEHT3 —hE 830 596 199 160318 AHER  |[tEH8sn—/ %105 534

78 |MASH WA =1:: M) —hE 160 111 35 2749|XHHER S5/ 4% 1.24

79 |RABIRE2 (KA BIEAA3 —thE, ET¥ 176 103 10 00| ERER HEHTH—1 R4S 1.36

80 |#AEHAE2 |KAT K raET #THE 244 173 63 525,63 MAER #5235 178

81 |[MAMEZ L AT $z LET —EE 494 261 24 0.0 BFER #5135 2.99

82 M AR WA kB ch ET —hE 134 54 0 00| REER LD 14
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. BERY | ad - ERTHE | : e i
No [Hih 4 5 T X BTTH FRi g (%1) %I%Egéi W;E: —_" Eﬁmﬁ =HFYER BRETORE (ha) (4. 35)
' (%2) (%3) (%1)
83 |#AXKIL AT xie3 —f5 30 6 6 62.1|#ATER | #SH105—/5R20% 0.65
84 |MAZ=ZE WA™ =2 —thE 780 489 167 1,358.2|th EFER #$H105 8.96
85 |HMAMIE AT RS2 —HE 604 423 126 962.6|HEZZER 52243 518
86 |45 L ZHT ®ATH EZHE —hE 77 47 24 2220 A NEER 585 064
87 |MARKE WA™ R4 ERET —5hE 517 319 48 185.2| 4 FER #5175 8.86
88 |5 EF ®ATH B ARETL —hE 69 49 20 173.7| % BER #$H1559 049
89 |#AEZHEILF |HAT EAEILFL —thE 75 53 10 54.1|32MEER #5205 0.83
90 |WMAZEAKET KA £ FHRETL tcd 94 57 17 1300|#%AHER #5105 107
91 |#AF & AT Fr 4 SRET —f5 100 84 20 1334|BAHER #5105 —/3220% 0.85
2 BERII=#H BERIIH =HHIE3 —tE 510 376 158 13846|BREER  #H65—/ %65 353
93 |BEJIE BEIIH =HME2 = 785 446 170 1442 1| BRIITER 529 —/126% 5.87
9 |ERBIIITE EEIH mHrEL —HE 484 127 1 00| RERIIR #5545 329
95 |BEJIRE BRI =56 —{£E 518 360 143 12305|BEIITER #H25—/ 12174 3.29
% |BRJIM=FF [BEBIS ZHFEAREE | —EE 358 301 142 1286.9| BEJITER #515—/1220% 2.86
97 |ERBIIfKRE |BEIH h K EHET —EE. R 121 54 19 156.4|BRJITHER |#ELH9% 043
%8 BERIIER BERIIH BE —HE 200 159 35 219.7| 2AR k51659 1.84
99 |ERJIEAL BRI AL PR ET —tE 302 200 72 598.0| & BER HHIH—/NRAS 218
100 |EREJIKFI BEEJIT K FIET —EE 80 45 8 403|BENITER |#E525—/324% 1
101 | BERINEE BENIW EFHHET —f5 66 37 13 107.0| FEEBER |50 115
102 |EBNIKEAR |BEIT R E R ET —EE. —FE 96 80 19 1265|FBEER #5390 —/ 275 178
103 |BEJIIER BRI BEHEEQE | 271 151 41 297 9| BRIITER #535—/127% 2.06
104 |ERE)IME BREIH 3t FE PR T —hE 308 180 43 2875|BRBITER #5195/ 375 2.45
105 |EE)IEH BRI =2 —hE. &R 194 98 11 138|BBIITR |#519—/1275 156
106 |BERB)IHER |BEIT o= FEET —hE 465 282 54 296.7| 85 BER #5125 4.14
107 |EBINEBR |BEIT EBH3 #TH 84 54 22 190.9| B BER #5155 043
108 | R EriE/7 4% REHH wAE —hE 805 337 55 2450|XHHER  ESTH 8.05
109 |REFEHIEE2 |RHH mAKE —thE 216 130 7 00|XBHER | #H75H 16
110 | REFHMR REHH MR —hE 210 121 21 102.4| ERi2ER &4 1.36
111 | REBTE REHH EAEL —thE 530 295 25 00| 2MER #$H155 353
112 |REFEH REHH £HMH6 —tE 77 51 8 334|2AR #ESH85> 0.76
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: =y : (3%1)
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113 |SFAEKRH SO {ER RET4 —&E 305 169 93 875.2| KEER 25— R55 166
114 |SFASRE sFA™ R84 #THE 288 153 40 2841|FIEHER  #EH25—/ R4 163
115 |SFAEIL SEO e STHET —&E 220 92 17 89.7|~F A ER 24—/ 82105 167
116 |SFO£ MR SFA™ S HHET2 —HE 182 125 39 304.8| K HER #5253 — /N R55 159
117 |SFOE sFA™ FEEHETS —hE 170 131 50 424 4| KFEER &S5 155 1.86
118 |SFA/NEL SFATH \EALET2 —hE 254 160 34 207.0|5FAER 85—/ R135 235
119 |sFO€ AL SFA™ S HET3 —HE 176 112 20 101.2| KHER A — R4% 162
120 |SFAEARER sFa™ TERRATL —EE 100 59 19 150.7|FE=FEER  ftESH20% 0.69
121 |SFAFAH SO FHARME —&E 55 28 15 1403|5FATER #5255 —/ R 4% 145
122 |ME FAET FAREFREN | —05 2364 900 291 23115\ KFIMER #5295 —/ 285 12.65 BEIEG
123 |METERK ] STHHET T 244 104 18 87.4| X #ER 55— AR5 1.66
124 |MAEJLEME |MET JLEFIEL —hhE T 192 117 20 955| KFNMEER 45209 163
125 |ME=YE PAE =VE —f5 443 265 66 454 3|{X:E8R 15—/ 2105 357
126 |MEILS FAETH T A HEr —fxE 116 72 25 2047|H)IMEER  #ESH175H 1.04
127 |MEHIIE FAE™ [ty —hE 36 22 782|HIBER S 105 0.56
128 |MEMNE FAET JeEFnE2 —hE 306 156 00| KFIMEER 25 —/326% 257
129 |MEHE FAET [l —hE 324 171 75 6659| M )IIFEER  fESH105 223
130 |MELS FAE™ EEHT —hE 170 80 25 1955\ & BER 65 107
131 |EiE P {éE B T AT —4E 690 411 66 286.4| B R 1EH18% 477
132 | KEFII RE #)I1 = 700 305 15 0.0| EFIBER #EH15% 501
133 | KRRk KEMH BAsEL2 —hE 1455 884 271 2,099.9|{E:EER #5185 13.03
134 | KEFEFH RE EEH3 —5hE 144 86 31 257.6| BHIAER 565 1.06
135 | KR PN ] FESEBET —EE 118 71 30 263.4| 1 EER #EH15% 1.45
136 | RERALHTHET PN ] e —hE 492 278 36 943|EEBRER  tEH25 3.86
137 | KEXKIA KEH KIEET —£E 244 152 38 262.2|{EiHER k25 135
138 |\ES® AV=4 ) =RET2,4,5 —hE. —EE 866 418 145 1,186.8AIMILAER #1551 R75 5.32
139 |dbILA B ILAET L7 —fE 120 51 4 0.0 MILAER 519 —/326% 0.74
140 |AEF I\ AEF2 —EE 239 53 6 8O|AEFOER #EAH105 0.82
141 |\EZR I\NEH KEFES —EE 161 82 10 20.7|EATER S35 0.75
142 |\BIAEF |/\EH FEREF2 #TH 241 81 7 00| AEFOER #ELHIH 0.97
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' ~ o) (%3) K1)

143 |\ER7T & BT By ES By E23|—hE. Zh5 500 322 81 56128k /\BER #5135 7.11

144 |\EEHR I\ SHETAEL23  |—FE 1526 982 144 526.7| FATER kS8 17.05

145 [J\EAILAK I\ETh FaILAETL —tE 78 36 0.0 MILAER |fESH55 0.79

146 [J\EILAK B ILAETIL6 —hE 109 67 0.0[AINILAER |fEH215 1.16

147 |J\EHEHR N0 HEFARTS —iE 141 48 36.8|/\RER #$H105 12 BEIEG
148 |BEEHAFEBAF |FHHFTH BEAFG6 —HE 240 123 13 SO[EBAFER #5135 266

149 |BEHAF/AMUTE  |EHFT b2 —hE 140 86 6 00|BEHFER | #S139 135

150 |BEFH<F)IIAL BT Ji4e3 —EE 103 66 10 39.1|HEEER 5125 1.09

151 |BERHFAH E L K35 —HE 152 97 24 164.5| LEA/BER | 1E4165 28

152 |BEFF/NMLEESE |BHFm /ML SEET —5hE 130 78 6 00|EHEFER S 159 112

153 |MR—EE WES —ZE3 —hE 532 199 55 4037|EH/ER  EH125 254 BEIEG
154 |¥A[RIZER NE SLERS —{EE 551 175 16 00| AIMIRER #4155 164

155 |MARXR3E KR KEFAL —{EE 144 67 11 495;AINKEER EH105 14

156 |FRJRRE N 2 —hE 180 123 18 65.6AIRIARER #E515% 181

157 |#2[REH ENES ) L8 —hE 182 122 0.0 TIRER #E&H155 1.56

158 | Ei L PRETH 6 —iE 42 34 0.0|&THER #5205 0.54

159 | FMREHS PR B B4 —HE 184 110 19 Q0(EHFER  HS159 1.96

160 (FIRHFESE |BRHH ZEE —E% 108 59 6 12| HTER 595 133

161 |FEREFHEH PRETH W34 = 320 217 35 1530|EBAER  |#ES8H 2.94

162 | FEFFHF AL |PRHFH B 5 = 331 209 23 202|FHEFER S 205 34

163 [{E& EEMN mES2 —HE 380 194 67 547.4| EEMEN  tE555—/5R105 234

164 |EH#TE EEHAH eI —hE 100 70 10 345\ EAKEOR 45135 0.98

165 | = HMIREF =W PR T2 —HE 354 259 34 932|EMAMER #5205 404

166 |= HMME EEMT B3 —XE 31 17 0 0.0/ )1l FGER A 0.33

167 |EEMEETE  |EEHT S84 BT —HE 324 211 11 00|EBHABOR (E45135 243

168 |=H#MEK EEMT SEIKET —hE 1146 698 73 36.8|ZHEMER  ®EH11H 8.25

169 |ZEHEMEE-rE  |SEKT &y BT —HE 157 91 8 00|EMAMER #5105 127

170 | = H 4 EEHAH FRT —thE 572 339 32 00|ZME#ER | #H225 10.27 BESIEH
171 |FHKHEE AREHTH FHEEHE —hE 532 344 115 926.9| FHEER  &%H10% 6.7

12 B2 R AREST BE¥rRE —HE 470 174 17 00| FHRHEER #5185 4
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No [Hih 4 5 T X BTTH FRi g (%1) %‘12552%#1 wg&@y éﬁmﬁ =HFYER BRETORE (ha) (4. 35)
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173 [AIARE = A [Tre&ESHH =B HEr —hE 84 44 10 644|=ATER |fEH8H 0.69

174 |AIRAREFARF |[TuRBH PR i) = 904 608 57 00| FHMEER | #$H105 8.97

175 [AINREHE ANESH RRTR —hE 106 75 12 518| FHRER | #H7H 111

176 |AARHFFREE |[TNREH FHREEHE —hE 62 38 00| FRHEER #£F514% 0.6

177 |#aEA R HEH AT R T —{EE 393 122 0.0|fRER 55 0.97

178 |#FREES E R B4 E3 —hE 50 18 23|AMESER $E5155 031

179 |#a[RFMEA R FIBRET —nE 110 68 15 943 EAFER #5205 076

180 (#AIRZ 1L R EonmEl —tE 220 69 3 0.0 AINEZDER #€5205 1.99

181 | %L KERBeLL iy =) 1440 1084 333 2,582.9| £HIER FEHID—IRTH 11.46

182 | &L R 45 i EFILET3 s, 928 701 93 2634[dLfEMER #5105 9.58

183 |/\H#E R X = EAT =i 2486 1737 564 44885 FH+ R #5105 21.05

184 |EREE |/ R e B, 465 147 18 380|HEMER  EH159 2.29

185 |EMEE2 |/ R e hE. A 520 373 155 13536|HE&MER 5135 BEIEG
186 |RFFELM2T IF |/ = FEEET2 —HE 195 - - —|#EEER | R’EH135 5 BBIESD
187 IRFEM2T6FE |/ X e REET2 e 194 - - — |FERER | ES13H BEIEG
188 |EMERESI b T T (459 HE T3 s, 764 342 62 3197\ EMER  HEH13H 43

189 |EFEERE4S /e LR HEmEErs —thE, 386 304 28 00|H&MER ‘S 15% - BEIEG
190 $RFEMMIT8E ||/ X RT3 e 209 - - — |FERER &S5 BEIEG
191 |£FEEES R P45 &4 —5hE 881 429 145 11742\ & ER 555 5.81

192 |£FEERES6 R 45 HE A3 s 574 364 144 123742 ER 1585 334

193 |/\HFEHT R X J\EFEHT2 hE 490 342 105 8142 ABER #5315 —/ 1105 353

194 |ZRFFIRET R X RFHIRET TR 170 79 6 0.0|R3HER 585 1.02

195 IREH ®/h ER &R —hE 450 289 72 4957|FRERMER $E4H155 2.84

196 RS /e BE FHEL R EE 705 227 0.0|4RER #5105 159

197 |EE BT ®/H kR BEITEMEE | =95 581 215 00| EEER #5145 192

198 |& [ 1R R ST —{ER. A 209 60 00|FEMER S5 0.68

199 |FFFHHET R B R chET —4E 189 98 0.0|RFHER L1559 1.04

200 |SRER /e BR | E —5hE 260 139 25 1277|BABR #5559/ 210% 1.62

201 [RAER |/ LR | &REET —5hE 384 163 0.0| B EER 535 2.08

202 |BREF ®/h BER EXMEEE |—(EHF 60 41 0.0|#REER #$H105 071
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No [Hih 4 5 sl BrTH (X%1) %%EE& wgé@y ﬁ% =REFYER ERETORER (ha) (4. X5)
' Btz (%3) (%1)
203 |R4EH R =M@ 476 33 138|ILEFHER  |#H39H—/1R55 498
204 |SRKREF R REH 5 0.0|FREXMER 5145 1.06
205 [RERFEEE R tEH —EE. &R 8 00|LBHAER  |#H398— 275 1.78
206 [3RFih R FIHETEG2 2 0.0|37ER 5109 0.21
207 IRERE ]/ mARER34 443 — — |4RTiER 585 363
208 IR KIERIHET R KIERIHET2 4 0.0| %8R 555 072
209 |ELLEE R =&l 430 79 506.0[R7EER  #E418% 3.92
210 |EUEE2 R =Il&2 40 2772| Ry EER B2/ R55 1.81
211 |EUEE4 R =IL&E4 91 5486\ Ry EER  #EHIH—RTSH 541
212 [ BERE R EEAl 119 880.9| Ry EER #4105 3.49
213 |BEEES /i BAEA3 479 174 15859\ Ry EBR #5159 —/3R3% 47
214 | BERES R EEE4 55 4589| Ry EER #5390 —/IR3% 2.4
215 |SEBtYA— |Rh BAa3 313 16 644\ Ry EER [ tEH205 098
216 |FTREE3 ] Lug =X 555 160 13662| Ry EBR S TH 4.86
217 | B E4 R &4 555 116 8522| Ry EER  fEH14% 5.19
218 | BB R BEWEL 87 4508| Ry EER #4105 5.68
219 | BEMBE2 ) NV 157 11569 Ry EEBR  fESH145 771
220 (=[RBE R =ZR&1 1605 221 13996|R7EER B TH 10.16
221 |BEXEES 1R xRS 60 4623| Ry EER B3I —RT5 257
222 \BEEERE4S R BxA4 804 192 16158/ R7EER  #H3n—/ X745 5.8
223 (MEIREE R WiEa1 1128 245 19481 Ry EEBR 515/ 265 1031
224 |BRILETT B’ #iu&l 330 21 207|WEARSER fEHTH 2.96
225 |BkILE2T ®m &2 5 00|#BEARZER #5585 1.2
226 |BKILE3ST ®m #iu&3 12 104|BERZR #5575 1.14
227 ([RILE3T R [FIL&S 1064 403 37030[WEKRLER L85 8.99
228 |[RILE4AT R FiL&4 10 759[REARZER fEH105 0.28
229 ([RILBEST R [FIL&S 1013 106 521 0[EARZER tEH5es 6.18
230 |[RILE5TE2 (Rm FE&s 10 92|BEKRZER fESH10% 0.69
231 [ER&E2T R G2 490 54 2208|1BEARSBER #SH15—/125% 3.49
232 |FRIREIT R FRIRES 1253 185 1,085.6| £BAFER #5155 103
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. BERY | ad - ERTHE | : e i
No | & | WmE K BTH g | Sy (WEEEE) e i BEYR RETOM/E| ) (x4 X5)
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233 [WL&E2T 1R R wWih&2 —h5 688 547 35 00|HBAFER  fEH12% 6.3
234 |FREEARST |Bm AR HEEAS = 300 166 6 00|MBAFER  #ESH3H 2.45
235 |{HtME2T 1R 53] I Fuk= —hE 170 139 34 2312|RBAFER 19— 2105 139
236 (BRBRE1T R R Baal —hE 350 275 15 00[XBAFER |$E59% 2.99
237 |MKILE3TH  |H/h 3= ] —hE 150 108 0 00[B=EKRZER fEH185 142
238 |ERFRER #|H EER ERBEL3 |—hE 496 293 27 00[FEXMER #5125 5.44
239 |ERILRER #|H EER  kRHBEL24  |—hE 586 372 45 89.7|FRKMER #5155 456
240 |ERFRE ®/h  ERR TR EELZL(GAR) 23 14 12 121.9|dLBFAER  tEHos—/iR15% 022
241 |BK Stk FEAL3 —hE. #iEE 182 92 22 147 2| EARER k45 1.92
242 |EARFE BaT RA7 —EE 70 39 1 81.7|EAER fEH18% 0.64
243 |\ mam BAa7 —EE 240 139 15 12.7|EKRER #5139 1.48
244 |ERKRHt mam mis —hE 88 51 1 0.0|BAER #$135 0.89
25 |BEZE BAET 3 —HhE 284 171 42 2864|FmER 555 154
246 |RKEEM RAETH Eihirs = 708 403 128 1,008.6|FIRAFHER | tESH74 3.15
247 |RKERXA RKiEh HAET TR 132 75 12 518|RAZER  HEH14% 09
248 |SRAKIR/R RAEH INKABT —EE 82 54 8 299|RAEER | HEH105 0.83
249 |RKERBI |RKZH RENHART3 —hE 176 89 18 1047|#2/RER  $E$H105 1.79
250 |SRAEBIM RKET BRHAET3 —hE 33 25 3 58|#/EER | #EHTH 0.46
251 |RKBHEFS  |RKEM TRESHET #TH 326 198 17 00|RAEER #5125 164
252 |[FIRS 1R FR™ 5 15HT2 —5hE 330 250 48 2645|FIRFFHER 535/ 255 2.74
253 |FNREEF TR SEANET —hE 268 163 18 19.6|FIRAFHER fELH145 2.2
254 (FIRILIEXR MR i) —EE. R 312 216 31 108.1|dLIEXRER | fESH8H 311
255 |FIR{EX TR {BAET2 —hE 368 214 29 874|NRFFFER L1559 4.45
256 |FIRFH R 2 FET —£E 276 115 12 58| FIRAFRER 19—/ 32105 321
257 |BHBARRE FHET ZFAKBET —hE 296 205 83 718.8| FAER 565 177
258 |RFIEMEAX |FMETH H A K AT —xE 720 547 188 1533.0| AKEER  #H55 -/ RT5 547
259 |FFIALT A @ L 4HT5 —hE 601 410 71 3450|FFIHEER #5105 3.09
260 |[FAIBXMIL |FfES KA LIETL —thE 580 431 51 909|HAEFMMAER #H15—/3R4%) 497
261 |FEFIEER AT EH3ETL = 254 150 28 149.5| &FAKER 565 221
262 |FEFIHEER AT 4B IRET — g% 231 155 41 293 3| FHAER EH124 258




. SELOD St
. EERY |p o, - L ‘ mi e
No | & | WmE K BTH g | Sy (WEEEE) e i BEYR RETOM/E| ) (x4 X5)
' ~ o) (%3) K1)

263 |FEHIBEH AT EHET34 —hE 966 551 61 67.9| BREER "H5TH 7.18

264 |FEFIEFRA AT FEAHT2 —hE 654 417 77 406.0| & KRER #EH15% 56

265 | FEFNHE AL REAAT| i AT —5hE 85 51 11 67.9|RFIMER  EH1559 06

266 |FEFIARKL BHAT T EETL —EE 95 58 16 117.3| B EER #5105 078

267 |FFEEERE2 |RNEH EIRET —E% 193 116 22 119.6| FHAER #5105 191

268 | F1HE KHET @ KHET4 = 399 247 51 3025|AKHEER  #EH1LH 5.7

269 |FFIATME |FMEhH Tt AET3 = 392 219 9 00| AXHER |fESH7TH 2.46

270 | BIRIEX Higw BA —thE 453 152 84 T9L2|FIRBEAR #H12% 664 BESIEH
271 |RIFIEARSE2  |AEH BA —thE 350 212 5 00|FIRIBEARER #4135 BESIEH
272 |BEE=YH Ry =Ui —hE 1376 1107 498 44540\ = VHER | 1ES105 11.62

273 |EEAR BiFm AR —hE 420 243 117 1066.1|BREIFER L1005 2,58

274 |BEE=VAE2 |REH =Ui —hE 450 380 78 460.0| = VHER  |$ES5H 3.86

275 |BIREF Ry ES —hE 100 72 28 2392| Z@EERR S5 TH 0.99

276 |BiZ3+H Bigt H+H —xE 335 219 19 00|REFRER &H7H 3.04

277 |BIFYE Bixw ¥E2 —1xE 154 94 19 110.4| BiRER 1£513%9 1.34

278 |BIRFKZ Higw & —thE 323 194 5 0.0|ZRER 555 531

279 |FE & RIEHT EPRWE RN | — 540 261 76 5739 FEEER #5105 553

280 |RIEHFRPIE I | RIESHT BT A S ET —hE 298 181 15 00| FAIEER  #EH105 551

281 |[fEE& RIEHH EHE —hE 436 241 134 1,263.9| BEERER kS99 104 BBIESD
282 |RIEBETE |REEHH EHE — g% 655 394 21 0.0|KEERER #4595 BEISESG
283 |BBIRP R RIEST IR —thE 450 225 9 0.0[#ERER #5555 29

284 |RIEFHFRH RIEST IR —hE 220 170 65 5520|RIEHER @SS 18

285 | RESE RIEFTH & TR 230 161 39 2634 KR L1559 1.67

286 |EBFRByE |RERT thEE —{E% 42 36 1 0.0| B2 ERER #$H105 0.45

287 |SRIEF LHET RIETHT EETL —XE 16 12 2 92| RIEHER  |#ES8H 0.15

288 |RIEHRTE |REHT Ry 12 — g% 279 172 21 437|HEFR #5109 354

289 |RIEFRE RIEHH & —5hE 304 205 22 173\ F#&ER LD 2.9

200 |RIEFFERIL |REHT IR —hE 168 107 5 00|HAFER #5109 1.66

291 |RIEEERIR RiEHTH IR —hE 147 103 20 11L6|RHETER 545 1.68

292 |HiIH R 38 —EE 450 246 53 326.6| @ FER kS8 2.93




EELD

Gr g T AR | ‘ it %
No [ th 4 5 TET BTTH (%1) %%EE@ wg&@y ﬁ% REYER BERETORE (ha) (4. X5)
' %) (%3) K1)
293 | REEH REgTH 1856 109 62 18 135.7|483ER "H5TH 075
294 |REYALS REgTH YALSEE 18 14 140.3| 1@ FER #5255 0.2
295 | SREIfE H RETH mm7 145 98 15 508|HRMDEBER 585 4.35
206 |ERUEEKER WRAE T RIAHT6 430 244 79 627.9| R IBER 5125 2.94
297 |RERAH MRt EH 1200 810 298 2,495.5| EIBER fEL185 9.25
298 |PBREIRIE WRE EEETS 44 4 0.0[ R38R #5125 06
299 |FEFRERET sl BREEL 195 104 25 167.9| B FEER Al 155
300 |BREREE2 sl BREEL 32 10 78.2| BFEER Al 0.48
301 [REEREAR REHRAT it 490 353 68 376.1|AEERER 25— N R8% 321
302 |BRER FH R ET i 11 1 00|ZERDEER #5645 0.15
303 |HRYALS B BT YALSHR—RE 330 198 4 00| PIEIBER | #ESH105 2.36
304 |UEZEH W ET URET;R B 92 33 2737[REETER  fEH45 1.32




